


If ABCD is a parallelogram, find the ratio of area of triangles asked:

A2E 3 B A1 E 5 B / A 3 E 4 B
©n
Ratio of areas of ar AEC L) ar AEF _ I\
triangles 1, 2 and 3: ar ABCD _:)l(—é_llz_ ar ABCD 2«
233 =3
<5 2%
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l Parallelograms ABCD and ABMN
- are on the base AB, where AB ||
DM. If the area of || gm ABMN is
80 sq. unit, what will be the area
of AAPD?
AR Tdis ABCD 3R
A B ABMN U & 3T4R AB W &a
/*7_ 8, 8T ABIDM 3§ 3R
APDMN:A%CD AP HHAledY Td®HoT ABMN T
D &9wa 80 sq & a AAPD I
8o 80 Yo Bl TdT |
a) 20 sq. unit b) 30 sq. unit
/) 40 sq. unit d) 160 sq. unit
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2.Two points X and Y are on

the sides DC and AD of the

D A C parallelogram ABCD. The

ar(AABX) is-

frdt wAFR g

Y ABCD I $TSTI3T DC TNy

AD W HAY A fag X
3R Y & ar24BX) =7

1x A R a); of ar(ABYC)
N /—Q’; _bYequal to ar(ABY()
Agy  ABCD Byc )3 of ar(ABYC)

\\ J d) twice the ar(ABYC)
<l




%.In the figure given below, AC is
E Scm D parallel to ED and AB =
DE = 5cmand BC = 7 cm.
What is the area ABDE : area
BDE : area BCD equal to?
I g RTI F AC, ED &F
gHTEaT § 3 AB = DE =
5cm%’ T BC = 7 em %‘l
&%l ABDE : &%l BDE :
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D ¢ Y.In the below diagram, ABCD is a
rectangle with AFE = 2EF =
3FB. What is the ratio of the
area of the rectangle to that of
the triangle CEF?
faer & 71§ 3mfa A ABCD

Hg w ama & e 4B =

A
6 E3F2 2EF =3FB % 3maa 3R
M BeosT CEF & aEwa @
| 32 39T Tl |
\ =x2=3
\-_'&“E 22 Ay a)11:3  jf22:3
A —X%xp_.,e 3 c)11:6 d) none of these




5. Area of a quadrilateral ACDE
is 36 cm?. if B is the mid point
of AC. Find the area of AABE if
AC || DE and BE || CD.
frdt aqesr ACDE @1
AT 36 cm? ¥ 39X B el
Ac =1 ey fag ¥ 3k Ac |
DE 99IBE | CD & aY AABE

HT &P IdT H|
6 a) 10 cm? b) 18 cm?
—=1Q /12 cm? d) 16 cm?




6-In AABC, D and E are the mid-points
of AB and AC of AABC,BC is
produced to any point P, DE, DP and
EP are joined, then arADEP =
?@’g\){)/arABED _2J arACED
A" _3YarAAED
AABC #, D 3R E st A 3k
AC & #ex fdg 8 BC & fdlt
fdg p @% oA JTaT ¥, DE, DP
P M ep N Ao Sar & oar
arADEP =
1) arABED 2) arACED
3) arAAED
a)Onlyland2 b)Only2and3
c)Only 1 and 3 /%AII 1,2 and 3
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A o ABC= (0BG A A aIOAR)

m\%’(/dx% =%ﬂ(d|+d,j—d@>




P A special result for equilateral triangles:

DE + DF + DG = 2.5 + 2.56 + 2.76 = 7.81

DE=25 DG=276

L 8
r— 5 «




drawn from any point in the interior
of an equilateral triangle to the
respective sides are Py, P, and Pj;.
The length of each side of triangle is

fret o e & areey fanell
fag & e a3t W & el
$T AFg Py, P, 3T P; B FW
ECCRCI CURC IR

49?% (Py + P, + P3)
b)%(P1+P2+P3)
C)\/%(P1+P2+P3)

4
d)\/—g(P1+P2+P3)

- _ 2 1 |- The lengths of the perpendiculars
A= é’% a, a= =h
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2.-From any point inside an
equilateral triangle, the lengths

/f\ a+b+C of perpendiculars on the sides
are ‘@’ cm, ‘b’ cm and ‘c’ cm. It’s
ar = ,{3\ (G-rb-l-ﬁ) £ Q area (in cm?) is
fb —fg_‘ ¥ s F eex Rl

o #t—ha’fm&ﬁwam

' Wﬁmacm‘b'cm
I ¢ cm @ Wﬁaﬁfﬂ
mwwa?n‘?

a)?(a+b+c)
/;g(a+b+c)2
c)?(a+b+c)

d)g(a+b+c)2

] 14




%.The three perpendicular distances
of three sides of an equilateral

h: §+a+12= 27 tria:gle frol:n a point V\Ilhich lies
inside that triangle are
2 _gqf? 6 cm,9cm and 12 cm
QA= .2; 'y\ =X respectively. The perimeter of the
B —g— a triangle is
=18 UF FESIl TAeer & ey fanelt
2 ¥ 3T A W qF T
2 $r ?—lﬁl{ 6 cm,9cm E’ 10§
A= Sb'fs 12cm 8 B w1 aRwmw
fraer 82
a) 54v/2cm 54+/3cm
c)42\2cm d) 45v/3cm
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Y. In an equilateral AABC, D is a point

A on AC such that the lengths of
perpendiculars drawn from D to AB

and BC are 6 cm and 3 cm. Find the

h:'6+5'q area of AABC.
D UF WA AABC #, D $T AC
Mh,&,:nfg W W YHR UH g & fF D @
I 3 AB 3R BC W " 1w oFat iy

qFES 6 cm IR 3cem %‘l ﬁ'aﬁl'
AABC T &9%d fha«r g7

a) 18v3cm b) 54v/3cm
/27\/§cm d) 9v3cm

| Bhutesh Sir | 16



5. In an isosceles triangle, the length
-/Sg of each equal side is twice the

§ "gn) A length of the third side. The ratio of

A 6 o areas of the isosceles triangle and

5 2 an equilateral triangle with same
perimeter is

s\ TS wAfgeg Mo # 9w

Y\Wmﬁagmﬂﬁwagm#

=33 a) 30v/5: 100  b) 32v/5: 100
—/36\/3: 100 d)42v5: 100

p3)

| CGL 2016 T-2 | 17



WS

usS

b0

20

W

18



6. In the given figure, PQRS is a
guadrilataeral. If QR =

AQ(- HPQ 18 cm and PS = 9cm, then
9 what is the area (in cm?) of
= J3,d8x18-1 qugj’g quadilateral PQRS?
Ay 2 d&r 1 fa A, PQRS TH
aqier & AR” QR =
= 1623-21J3 18cm 4T PS = 9cm &, ar
2 gdisT PQRS HT &F%d
(cm~2 H) F1 87
= Bifg )ﬂ b) 177V3
2 2

/13;«/_ PR

| | 19




7. If the perimeter of a isosceles
right angled triangle is
(4V2 4+ 4) cm, the length of
J2 the hypotenuse is:
@)’XﬁV ' R RN wHerg wHESOr

Boer &1 oRemT  (4VZ+

M’M - M ! 4) cm g @ &t AFTS
Y7 Rt [2 qar ]
M 22 a)4 cm b) 6 cm
/chm d) 10 cm

| | 20



A
20+ J20.= 8 @'ﬁ—) a,,% a=3

=) QM”W Avs s

_lz x?xg; 32

8. Inatriangle ABC,AB = AC and the

perimeter of AABC is 8(2+

V2) cm. if the length of BC is V2
times the length of AB, then find the
area of AABC.

fsrer ABC & AB = Ac 3R
AABC &1 9RAT 8(2 +v2) cm @]
Ifg BC & aFarS oo AB #
oFaTS B V2 TA § A AABC H
NG ATT HIfSA]

a) 28 cm? b) 36 cm?

c) 16 cm? d) 32 cm?

/
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9. One of the angles of right

Im = o (m angled triangle is 15°, and the
z hypotenuse is 1 metre. The
2

Om) = QOO(M) area of the triangle (in square

|m? = (e cm.) is
me= frdt wEpIOT BT FT wE
2= 000000 (i3 ( T 15° § AR $qF FHoT A
aFars 1T 3 B w

TP (97 cm H) B9

1o Sz 2= a) 1220 b) 1200
X fﬁlx Sz /}’1250 d) 1215
7
- A __, J2 555 10=2x5
Axg g™ = xt¥Ppo

| CGL 2014 T-2 | 2z



(0.In a triangle ABC, AB =

A 12 cm, 2ABC = 30° 2ACB =
45° Find the area of triangle
bolun ABC?

3 NG Bt ABC & AB =12 cm,

1 (6+6J':5>,é—- 6 £ABC = 30°,ACB = 45° ¥
= 20 us ABC &T & 9% 9dT |
- 8(vV3+1) b)18V3

= (I+j'3)18 B &3 D 6 %16(\/—+1) d) Can’t say

] 2%



[1. The sides of afright angle triang@
+* Q'V\I} W }/\Qjom MW are in@ If its inradius is V5 cm
.!M AP ' Q then the area of the triangle (in
cm?)is
frelt gaeRioT Fersr 1 srerTe
AR A & § IRy e

‘Y-P+b«‘o1 @ fBear VSem & @ Baer &
SAFA(cm? ) Fhaar gam?

130 b) 60
c) 635 d) None
1D— 53' _ IS timey 35| E

M — Q%) =5 i, S EE’(X\E =30

\
=

D e




|2 .Let P be an interior point of a

A @ight-angled) isosceles triangle
ABC with hypotenuse AB. If the
Y= F"'D’h: ‘?’ﬁ- s ﬁ perpendicular distance of P
oy 2 from each of AB,BC, and CA is

\ 4(V2 — 1) cm, then the area, in
H&r

ug sq cm, of the triangle ABC is

Dx— Yo ) g T AB AN TF WA

- gFenEl B & X T
W fig P Rua ¥ 3R spomait
=uf5 —X‘*\x\{ﬁ_xqﬁ_ AB, BC Td CA ¥ fag P &

WE@[‘I(\E 1) cm%’?ﬂ

Q 2 = fesT ABC #T &% (cm )
D= Qﬁ) '6 qar ]
a) 12 y 6
)8 ) 10

| CAT 2017 (TITA) | 25



¥4 “((5“"""“) 13, In  an( isosceles) right angle

_ triangle ABC right angled at B. |
oL D 5 x bx 1 is incentre of triangle then, find
Jx the ratio area of AAIB,ABIC

b ot # vobio and AAIC

ABC TF WHSHIT FHISH
. | ﬁalsr%ﬁ'awmwﬁ;%;
IB* BIC - AT | BT FT e

C I Al B < & paIB,ABIC 3R pAIC #T

| - 1o HAITT IaT F
- J=z @ /ﬁ:m/i b)v2:1:1

- c)1:v/2:1 d) can’t say

D —



Iy In an@right angle

A triangle ABC right angled at C.

A1cC: ClI B.AIB I'is the incentre then, find the
, . fz‘_ J’ ratio of area of AAIB to AABC

I 2 e FAH A wHRRE

< PISTST ABC ¥ | SHHT et dg

8 °2aiB 3R MABC F
& Thell $T ITITT Il FJ|

A 2 a)v2+1 %\/f—l
s Y c)1—+2 d)2 ++2

27






5. Two circles are placed in an
equilateral triangle as shown in the
figure. What is the ratio of the area
of the smaller circle to that of the
;:?uilateraltriangle? 5w

gd U HHAqE B
av § Shr fF AT & famr
g1 wwarg e 3k o g9 &
QTG FI AT FAT 2
a)m:36V3  b)m:18V3
Am27V3  d)m:42V3
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